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Your runtime beats
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% of c submissions.
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You are here! 

Your memory usage beats
81.77
% of c submissions.
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Invite friends to challenge Two Sum

Submitted Code: 0 minutes ago

Language: c   Edit Code  

int *twoSum(int *nums, int numsSize, int target, int *returnSize)
{
    int i, j;
    int *ret = calloc(2, sizeof(int));
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    for (i = 0; i < numsSize; i++)
    {
        int key = target - nums[i];
        for (j = i + 1; j < numsSize; j++)
            if (nums[j] == key)
            {
                ret[0] = i;
                ret[1] = j;
            }
    }
    *returnSize = 2;
    return ret;
}
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